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Excimine this spectrum

of herone, then press

the crrowe to continue.
0.4
0.z
- Expand
1.0
T

I
08 =
1-Hexene
0.6
1-Hexene
Con you determineg which pecks
0.4 crise from the double bond? (Hint:
overloy the spectrum of hexone. )
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Con you determine which pecoks
0.4 crise from the triple bond? [Hint:
crvetloy the spectrum of hexone.)
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Heptyl zy anide
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Heptyl cyanide

Con you determing which peoks
0.4 arise from the nitrile group? (Hint:

overlay the spectrum of hexone.)
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Excimine this spectrum
0.4 of toluene, then press
the arrow to confinue.
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’ Con you determing which pecks
arise from the OH group? (Hint:
overloy the spectrum of herone.)
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Con you determing which peoks
crise from the MNHz group? (Hint:
crverloy the spectrum of hexone. )
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Heptaldehyde
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Heptaldehyde
Con you determine which pecks orise
0.z from the oldehyde group?  (Hint:
overloy the spectrum of hexone. )
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Con  you  determine
which pecks arise from
the ketone group?
oo Expand
4000 Z500 3000 2500 2000 1800 1600 1400 1200 1000 s00 G000 o~ 400
1.0
T
0.5
Heptanoic Acid
06 Con you  determine
which peoks  orise
from the ocid group?
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Ethyl Acetate
Con you  determine
0z which  pecks  orise
from the ester group?
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Butyric anhydride
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Butyrc Anhydride
Con  you  determine
0.z which  pecks  orise
from the anhydride?
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